October5.notebook

° Friday, October 5
QQ: 1) Based on your current knowledge, where do you stand?

The cost/benefits outweigh the costs/benefits of the changes
brought by the Industrial Revolution.

HW: 1) Optional Cornell Notes pp. 220-27-T 10/9

Ann.: 1) Why Britain Quiz T 10/9 "\"c’

2) Flow Chart Due in NB Check

Today: 1) Review Cost & Benefits Chart/T Chart

2) Analyze Visual Source--Metaphor for (+/-) of IR
Class Struggle Image

3)-Britain'sTeaction to Probiems-of~ER=PP Q-notes

~4)-FestCorrections
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